Tableaux des Puissances de Dix (D)

Multipliez le nombre de la rangée par celui de la colonne.

0,001

0,01

0,0001

0,1

43

63

93

33

0,01

0,0001

0,1

0,001

77

42

36

71

85

0,1

0,0001

0,001

0,01

81

16

80

32

76

0,01

0,0001

0,1

0,001

53

62

95

49

MathsLibres.com




Tableaux des Puissances de Dix (D) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,001 0,01 0,0001 0,1

43 0,043 0,43 0,0043 4,3

9 0,009 0,09 0,0009 0,9

63 0,063 0,63 0,0063 6,3

93 0,093 0,93 0,0093 9,3

33 0,033 0,33 0,0033 3,3

X 0,01 0,0001 0,1 0,001
77 0,77 0,0077 7,7 0,077
42 0,42 0,0042 4,2 0,042
36 0,36 0,0036 3,6 0,036
71 0,71 0,0071 7,1 0,071
85 0,85 0,0085 8,5 0,085
X 0,1 0,0001 0,001 0,01
81 8,1 0,0081 0,081 0,81
16 1,6 0,0016 0,016 0,16
80 8 0,008 0,08 0,8

32 3,2 0,0032 0,032 0,32
76 7,6 0,0076 0,076 0,76
X 0,01 0,0001 0,1 0,001
8 0,08 0,0008 0,8 0,008
53 0,53 0,0053 5,3 0,053
62 0,62 0,0062 6,2 0,062
95 0,95 0,0095 9,5 0,095
49 0,49 0,0049 4,9 0,049
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